



Terms and Conditions – Shop Play Win

Registration or participation in this competition is deemed the entrants acceptance of these Terms & Conditions of Entry. Acceptance of these Terms & Conditions is a condition of entry into this competition.

PRIZES- DRAW DATE

5 winners daily From Wednesday August 1 to Friday August 31, 2018.

Prizes

Entertainment

1 X Family Pass Rainforestation

2 x Family Passes Bad Fishy Jet Boat valed at \$390.00

2 x \$50 E Gift Card Aquarium

1 x Family Pass Wildlife Habitat

1 x Family Pass Cairns Zoom and Wildlife Dome

1 x Family Pass Australian Butterfly Sanctuary

2 x double pass to Green Island with Big Cat Green Island Reef Cruises

2 x double pass on either Cairns Harbour or Sunset Cruise

2 x double pass to Fitzroy Island with Fitzroy Island adventures

2 x double pass with Cairns Canyoning

2 x double pass half day white water rafting on the Baroon with Raging Thunder

Games Station Vouchers \$250, 2 x \$100 1 x \$50

For him

Mister Minit 2 x \$50 Vouchers \$100

Fishing Packs \$100 x 3 \$300

Gauntlet Games 8 x \$50 Vouchers

For her

Supercuts 4 x \$50 = \$200

2 x \$50 ICE Fashion Vouchers - \$100

2 x \$50 Noni B Vouchers - \$100

2 x \$50 Millers Vouchers - \$100

22 MSP Gift Cards + \$660

Eat Street and Food Court Vouchers

6 x \$20 Sushi Train Vouchers = \$120

6 x \$20 The Coffee Club Vouchers = \$120

6 x \$20 XO BBQ Vouchers = \$120

6 x \$20 Sushi Souki Vouchers = \$120

6 x \$20 Kebab Zone Vouchers = \$120

6 x \$20 Muffin Break Vouchers = \$120

6 x \$20 Donut King Vouchers = \$120

6 x \$20 Jackley's Bakehouse Vouchers = \$120

6 x \$20 Flaming Wok Vouchers = \$120

6 x \$20 Subway Vouchers = \$120

6 x \$20 Brew Haha Vouchers = \$120

6 x \$20 Apex Milk Bar Vouchers = \$120

6 x \$20 Mr Meats Vouchers = \$120

6 x \$20 Red Rooster Vouchers = \$120

6 x \$20 Unique Cafe Vouchers = \$120

Vouchers Expire September 30 2019

VENUE

Mount Sheridan Plaza, 106 Barnard Drive, Mt Sheridan 4868 QLD ABN No. 68 266 146 096

DURATION

This promotion will commence 9:00am Wednesday 1st August 2018 and concludes 5:00pm Friday 31st August 2018.

ELIGIBILITY

1. Entry is open to residents of the Cairns Region from Atherton, to Port Douglas to Cardwell and all postcodes in-between aged 16 or over.
2. To be eligible to participate in the Shop, Play Win promotion, you must make a purchase during the promotional period in one transaction or many. 5 customers will be asked at random whilst shopping and at Mount Sheridan Plaza to show the proof of purchase, via a valid receipt and or shopping bags displaying goods or services received.
3. Employees and Retailers of Mount Sheridan Plaza and immediate families are ineligible to enter. "Immediate family member" means any parent, spouse, sibling, child, defacto and/or any other family member residing at the same address as that person.
4. To be eligible to SPIN & WIN, you must be a resident of Cairns. A member of MSP staff will ask customers at random if they would like to Spin for the chance to WIN a share in \$5,000 worth of prizes. 5 winners will win instantly a prize from the wheel.

5. Promotion closes on 31st August 2018 at 5:00pm AEST. Purchases after this time will not be eligible. The prize draw will take place, in the presence of an independent witness; at different times throughout the day.
6. You may decline the opportunity to spin the wheel. The selected participant can only spin the wheel on one occasion.
7. Management's decision is final and conclusive and no comment or correspondence will be entered into.
8. The winner will be notified instantly after the competition spin and will be asked to visit the centre management office to collect the prize they have won. If the winner does not want the prize, it will be forfeited and the Promoter will ask an alternate customer and we will repeat the process. The Promoter MSP will continue in this fashion until all 5 winners have had the chance to spin and claim their prize.
9. All winners must provide suitable identification and contact details to the Promoter's satisfaction to be entitled to claim the prize.
10. As mentioned above an arrangement will be made with the winner to collect all prize components.
11. The prizes are not transferable or refundable, not exchangeable or redeemable for cash.
12. Entrants acknowledge that the Promoter has the right to publicise and publish his/her name and likeness. The winner must make himself/herself available for a photo if required and acknowledge that the Promoter has the right to use publicity photos in any reasonable manner it sees fit, without compensation to the winner.
13. An entrant may enter the Competition more than once provided it complies with these Terms and Conditions.
14. To the extent permitted by law the Promoter will not be liable for any loss or damage whatsoever (including but not limited to) direct or consequential loss or for personal injury as a result of the prize.
15. If there is a dispute as to the identity of an entrant, the Promoter reserves the right, in its sole discretion, to determine the identity of the entrant.

In the case of the intervention of any outside act, agent or event which prevents or significantly hinders the Promoter's ability to proceed with the competition on the dates and in the manner described in these terms and conditions, including but not limited to vandalism, power failures, tempests, natural disasters, acts of God, civil unrest, strike, war, act of terrorism, the Promoter may in its absolute discretion cancel the competition and recommence it from the start on the same conditions, subject to the law.

The Promoter and its associated agencies and companies will not be liable for any misadventure, accident, injury, loss (including but not limited to consequential loss) or claim that may occur:

In the case of the intervention of any outside act, agent or event which prevents or significantly hinders the Promoter's ability to proceed with the competition on the dates and in the manner described in these terms and conditions, including but not limited to vandalism, power failures, tempests, natural disasters, acts of God, civil unrest, strike, war, act of terrorism, the Promoter may in its absolute discretion cancel the competition and recommence it from the start on the same conditions, subject to the law.

The Promoter and its associated agencies and companies will not be liable for any misadventure, accident, injury, loss (including but not limited to consequential loss) or claim that may occur:

Due to the broadcast of any program relating to the competition or the publication of any material, including any statements made by any competitor, staff member, journalist, other entrants or any other person;

Arising from or related to any problem or technical malfunction of any telephone network or lines or mobile communications network related to or resulting from participation in this promotion;

Any matters arising from winners and prize draw with regards to external bodies is the responsibility of the winner. Mt Sheridan Plaza will not be held liable for failure to declare monies to third parties if indeed there are any requirements.

You consent to us using the information you have provided on this form for the purposes of the general administration of the centre in accordance with the Privacy Act. You further consent to us forwarding this information on to the sponsors of this promotion at their request.

The Promoter may, for an indefinite period, unless otherwise advised, use the information for promotional, marketing, publicity, research and profiling purposes, including sending electronic messages, marketing communications, or telephoning the entrant. Entrants should direct any request to access, update, remove, or correct information direct to the Promoter. All entries become the property of the Promoter.

The Promoter agrees to keep confidential all personal details obtained by the Promoter and agrees that such information will be used for the purposes of promoting Mount Sheridan Plaza. Winner is to provide photo ID on collection of the prize letter. Once the prize letter is signed and prize collected, Mount Sheridan Plaza will not be involved in any further negotiation or correspondence regarding the prize.